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= = T AN = 5 A\ - | = = T A\ = freay = | =
1 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00| 000 ~ 450 56.17 | #hlust | 000 ~ 450 1.92 10.27 Zh s 1.00 | 5600 ~ 5.00 56.17 | #hst | 5.00 ~ 500 1.92 10.27
2 100kN/m#%#8Z%| 1.00| 000 ~ 1.44 121.98 |3m&E#EZBH| — ~ — — — | 100kN/m%#8% % | 1.00 | 10.53 ~ 15.34 121.98 |3m%#BZ 5 -~ — — —
ZFhLs 100|144 ~ 923 100.00 | #Fhust | 000 ~ 923) 236 12.66 ZThsh 1.00|6.00 ~ 1053 100.00 | =nst | 5,00 ~ 1534 2.36 12.66
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 7.71 98,97 | Fhst 000 ~ 771|217 11.64 Thst 1.00 | 500 ~ 1035 98.97 | =hds | 6.00 ~ 1035|217 11.64
4 100kN/m%#8x5%| 1.00 | 000 ~ 016 102.36 |3m&E#EZBH| — ~ — — — | 100kN/m%#B% % | 1.00 | 1288 ~ 1340 102.36 |3m%&#BZ 5 - ~ — — —
ZFhLs 100016 ~ 795| 100.00| Ths | 000 ~ 795|255 13.66 Zhsh 1.00 | 5.00 ~ 1288 100.00| Thist | 5,00 ~ 1340 2.55 13.66
5 100kN/m%#8x5%| 1.00 | 000 ~ 086 112.87 |3m&E#EZBH| — ~ — — — | 100kN/m%#8Z% | 1.00 | 1293 ~ 16.07| 112.87 |3m%Ei#Bzx% -~ — — —
ZFhLs 1.00)08 ~ 865 100.00 | #Fhlst | 000 ~ 865|278 14.86 Zh st 1.00|6.00 ~ 1293 100.00 | =4t | 5,00 ~ 1607|278 14.86
P 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
ZFhLs 1.00 000 ~ 325 41.43 | #FnLS 000 ~ 325|227 12.12 Zh s 1.00 | 600 ~ 5.00 41.43 | #hst | 500 ~ 500|227 12.12
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ Zhst ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh st ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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